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1.How does an API Product Manager ensure effective management of applications and subscriptions? 
A. By encouraging consumers to share application credentials 
B. Implementing a feedback loop with consumers to refine API offerings 
C. Limiting the number of applications a consumer can register 
D. Automatically approving all subscription requests 
Answer: B 
 
2.Developers have applications that are currently subscribed to Products.  
At which stage can the developers call the APIs, but no new subscriptions to the Plans in the Product are 
possible? 
A. Deprecated 
B. Staged 
C. Retired 
D. Published 
Answer: B 
 
3.What best practice should be followed in administering applications and subscriptions? 
A. Encouraging the use of generic applications for all consumers 
B. Tailoring subscription plans to fit the diverse needs of consumers 
C. Discouraging consumers from subscribing to multiple plans 
D. Automating all subscription decisions without review 
Answer: B 
 
4.A developer has created a REST API using OpenAPI 3.0 and would like to add additional policies to 
the definition. Where are the policies added? 
A. Assemble tab 
B. Gateway tab => Gateway and portal settings 
C. Design tab 
D. Gateway tab => Policies section 
Answer: D 
 
5.What happens to the Consumer organization applications when it is removed from a group specified in 
the custom visibility settings for a Product? 
A. Any existing subscriptions are not affected. Applications in that Consumer organization can no longer 
subscribe to the Product. 
B. Any existing subscriptions are deleted. Applications in that Consumer organization can no longer 
subscribe to the Product. 
C. Any existing subscriptions are deleted. Applications in that Consumer organization can subscribe to 
the Product only if it has a previous deleted subscription. 
D. Any existing subscriptions are not affected. Applications in that Consumer organization can no longer 
delete the subscription to the Product. 
Answer: A 
 
 


